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1. Consider the following statements: 

1) India's per capita emissions are the highest among the top three emitters globally. 

2) The Kyoto Protocol established carbon trading as a way to reduce greenhouse gas emissions. 

3) The Energy Conservation (Amendment) Act 2022 has enabled India to create a carbon credit trading 

scheme. 

Which of the statements given above is/are correct? 

a) 1 and 3 only 

b) 1 and 2 only 

c) 2 and 3 only 

d) 1, 2, and 3 

 

2. Consider the following statements: 

1) The World Trade Organization (WTO) and World Bank (WB) are called Bretton Woods Institutions. 

2) WTO aimed to establish a rule-based trading regime in which nations cannot place arbitrary restrictions on 

trade. 

3) The International Monetary Fund (IMF) provides loans and grants to the governments of developing 

countries and private organisations. 

Which of the statements given above is/are correct? 

a) 1 only 

b) 2 only 

c) 1 and 2 only 

d) 1, 2 and 3 
 

3. With reference to Disinvestment in India, consider the following statements: 

1) India pursued a less ambitious disinvestment policy from 2003–04 to 2015–16 by deciding to own 

controlling shares among the divested PSUs.  

2) Since 2016–17, the government has decided to restart the process of strategic disinvestment in which the 

ownership of the PSUs may also be transferred to the private sector.  

Which of the statements given above is/ are correct? 

a) 1 only  

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 
 

4. Which of the following are not accounted for in the Gross National Product (GNP)? 
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a) Private Remittances 

b) Interest received on External Loans 

c) External Grants 

d) Income by foreign residents 

 

5. Consider the following statement with respect to the changes brought in economic planning in India since 

2015: 

1) NITI Aayog was made the new planning body for India. 

2) Competitive federalism, top-down approach,holistic and inclusive development with the need of an Indian 

model of development are some of the hallmarks of the new design.  

Which of the statements given above is/ are correct? 

a) 1 only  

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

6. With reference to International Criminal Court (ICC), consider the following statements: 

1) It is the first and only permanent international court with jurisdiction to prosecute individuals for 

international crimes. 

2) The court has the power to arrest sitting heads of state or bring them to trial. 

3) India is one of the signatories of the ICC. 

How many statements given above are correct? 

a) Only one 

b) Only two 

c) All three 

d) None 

 

7. Consider the Following Statements: 

1) Russia has fulfilled over 46% of India’s defence needs in the last five years. 

2) America is one of the few countries with which India has a trade surplus. 

Which of the above statements is/are Not correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

8. Which of the following does not come under Direct Taxes? 

a) Corporate Tax 

b) Interest Tax 
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c) Central Sales Tax 

d) Dividend Tax 

 

9. Which of the following can be considered as components of the Green Revolution? 

1) Dwarf variety of seeds. 

2) Use of urea. 

3) Irrigation. 

4) Availability of cheaper credit. 

Select the correct answer using the code given below: 

a) 1, 3 and 4 only 

b) 2, 3 and 4 only 

c) 3 and 4 only 

d) 1, 2, 3 and 4 

 

10. With Reference to the ‘the Bombay plan’, which of the following statements is/are correct? 

1) It was prepared by Bombay’s leading capitalists. 

2) It was in favor of increasing participation of the private sector in the economy. 

3) It was in favor of rapid industrialization with emphasis on heavy capital goods. 

4) It wasn’t in favor of cotton industries. 

Select the correct answer using the code given below: 

a) 1 and 4 only 

b) 2, 3 and 4 only 

c) 3 only 

d) 1 and 4 only  
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